Mr. V has a mass of 80kg (rounded up!):

Find something/s or someone that is -
a) 10% of Mr V's mass

b) 0.25 of Mr. V's mass
c) 3/4 of Mr. V's mass

d) 1/10 of Mr. V's mass
e) 90% of Mr. V's mass

e) 0.5 of Mr. V's mass

f) 0.05 of Mr. V's mass

g) ) 0.125 of Mr. V's mass
h) 6/10 of Mr. V's mass

i) 1/5 of Mr. V's mass

j) 15% of Mr. V's mass



The Mr.V Mass Challenge:

Pair
Names: &
Challenge Answer (in Kg) Object/s Proof
How did you work it out?
Example:
j) 12kg ??? school A school dictionary weighs
15% of Mr.V | 10% would be 8kg so.... dictionaries 750g so...
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